@ i % ig Moltiplica i decimali per potenze di dieci

Nome: Data: Punteggio:
4,958 x 10 = 4,097 x 100000 =
10, 892 x 1000 = 8,285 % 10 =
7,729 x 1000000 = 9, 066 x 1000000 =
5,569 x 1000 = 5, 118 x 1000000 =
2,282 x 10 = 2,291 x 1000 =
6,325 x 1000 = 2,965 x 100 =
7,379 x 100 = 8, 696 x 1000000 =
8, 796 x 10000 = 1, 101 x 100000 =
1,03 x 100000 = 10, 882 x 1000 =
9, 844 x 10000 = 3, 641 x 100000 =
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@ i % Zg Moltiplica i decimali per potenze di dieci

Nome: Data: Punteggio:
4,958 x 10 =49.58 4,097 x 100000 = 409700
10, 892 x 1000 = 10892 8,285 x 10 = 82.85
7,729 x 1000000 = 7729000 9, 066 x 1000000 = 9066000
5,569 x 1000 = 5569 5, 118 x 1000000 = 5118000
2,282 x 10 =22.82 2,291 x 1000 = 2291
6,325 x 1000 = 6325 2,965 x 100 = 296.5
7,379 x 100 = 737.9 8, 696 x 1000000 = 8696000
8,796 x 10000 = 87960 1, 101 x 100000 = 110100
1,03 x 100000 = 103000 10, 882 x 1000 = 10882
9, 844 x 10000 = 98440 3, 641 x 100000 = 364100
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